BETANh RUVERBE AFI0RE =
A=7vy a2 EBILP—2001iTJY—2001—K B
B=i7vy aEBILP—2000i{TJY—2000—K i#%

[ 250 [
[ 1. 000 [ 20 210 20
e |l
ZHS 990 2H5 e [ﬁR’Mo]
[#ER1/15)] N+—
(an)
N
o o -7 <= LHRELY
S w| W 8
8 ™ %)
25 950 25 1 000 <
l ® [#BR1/15] I | (%R 1/15] | o
(]
Lo @ Lo _ju ~— 7]'—7‘
% ' % I / o >
T T [
HaEa ?E f
® S o
el &
g -
o o C\;
S ® ® S Lo BHEEGL=800LERmINEL
g = @ — '7"/Euxnb<§ﬁmm;‘fézﬁ
o~ ,
% g | FEWMRERYSLAEICTIERES
2 ® (FEREMEEREOHDA)
F
Lo
> - biNb;
-
N
2 2
Lo Lo L7y ILEERALTZO07—ICERE
~ N
Lo Lo
s /
. ‘. N+
KETREE WHE ZHEE RE @ mtERAMN TR28%2A17H (B)HEMEERFR WHE MR 1/10

WR| 1/15




